
Przydatne wzory

(cosα+ j sinα)n = cosnα+ j sinnα

cos(α± β) = cosα cosβ ∓ sinα sinβ

sin(α± β) = sinα cosβ ± cosα sinβ

cosα · cosβ = 1
2
(cos(α+ β) + cos(α− β))

sinα · sinβ = 1
2
(cos(α− β)− cos(α+ β))

sinα · cosβ = 1
2
(sin(α+ β) + sin(α− β))

(xa)′ = a · xa−1

(ax)′ = ln a · ax

(loga x)
′ =

1
ln a · x

(sinx)′ = cosx

(cosx)′ = − sinx

(tg x)′ =
1
cos2 x

= tg2 x+ 1

(ctg x)′ = − 1
sin2 x

= − ctg2 x− 1

(arc sinx)′ =
1√
1− x2

= −(arc cosx)′

(arc tg x)′ =
1

x2 + 1
= −(arc ctg x)′

(f · g)′ = f ′ · g + f · g′(
f

g

)′
=
f ′ · g − f · g′

g2

(f(g(x)))′ = f ′(g(x)) · g′(x)∫
xa dx =

{
xa+1

a+1 + C, gdy a 6= −1
ln |x|+ C, gdy a = −1∫

f(g(x)) · g′(x)dx =
∫
f(u) du, gdzie u = g(x)∫

f(x)g′(x) dx = f(x)g(x)−
∫
f ′(x)g(x) dx


